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. Clip the data. Do this based on the confidence interval containing the parameter, combined

with the tail bounds of the distribution class.

2. Compute the empirical estimator for the quantity, and add noise proportional to the sensitivity
(which should be bounded due to clipping).

3. Define a new confidence interval centered around this estimate, with a width based on the

sampling error and the noise added.

4. Repeat.
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Theorem 5. There exists an (e,0)-differentially private algorithm which estimates the mean of
N(u,I) (where ||ull2 < R) to ly-accuracy «, given

n=0
e €

—&\Mewswna\ (d dy/log(1/5) \/dlogRlog(1/5)>
pel i

samples.
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1. Clip the data. Do this based on the confidence interval containing the paramej'er, @ombined
with the tail bounds of the distribution class. O(WM lba " % > ( 14

2. Compute the empirical estimator for the quantity, and add noise proportional to the

(which should be bounded due to clipping). _‘ 2)( ¢+ N ( O

3. Define a new confidence interval cente und this e Ema&ea.‘\mth W
sampling error and the noise added. (
n
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